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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 847 1 

 

 

2 (a) 20 376 

 

(b) 20 400 

1 

 

1ft 

 

 

Their (a) to nearest 100 

3 (a) 3 

 

(b) 3 

1cao 

 

1 

 

 

4 (a) Trapezium 

 

(b) Parallelogram 

1 

 

1 

Do not allow Trapezoid  

 

 

5 100 2 M1 for 
15

600

+
(×1) 

If zero, SC1 for answer of 500 

 

6 124 or 123.8  

or 123.83 to 123.92  

2 M1 for π × 6.28
2

 

7 0.54 2 M1 for 

100000

200007.2 ×

 oe  

or SC1 for figs 54 in answer 

 

8 (a) 10 

 

(b) 9 

1 

 

1 

 

9 22.5 oe 3 B2 for 180 = 5x + 2x + x oe or better 

B1 for 2x or 6x marked in the correct place on 

the diagram 

10 x = 13 

y = −9 

3 M1 for consistent multiplication and 

addition/subtraction. 

A1 for x = 13 or A1 for y = –9 

11 

12

26

– 

12

7

  or 2 – 

12

5

 oe
 

 

1

12

7

 or  

12

19

oe 

M2 

 

 

A1 

M1 for 

6

13

 − 

12

7

 or 2

12

2

 − 

12

7

 or  

6

1

 − 

12

7

 oe 

 

12 (a) 1738.3 

 

(b) 2.87 × 10
4

 

 

(c) 6.5 

1 

 

1 

 

1 
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12 

(a) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛−

3

2

 

 

(b) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

− 3

2

 

1,1 

 

 

 

1ft 

B1 for 1 correct component. 

SC1 for both correct but written as coordinates as 

the answer. 

 

ft their (a) with signs reversed. 

Not a strict follow through. 

13 

(a) 

4420

80

×−

 

 

(b) 20 

 

(c) 14.0 

1 

 

  
1 

 

2 

Condone either 78 for 80 or 22 for 20 but not 

both. 

 

 

SC1 for answer 13 if clearly from  

78 ÷ (22 − 4 × 4) or 78 ÷ (22 − 16). 

B1 for 13.9(9……….) or 14 in working or in the 

answer. 

14 (a)  (1, 2,) 3, 6, 9, (18) 

 

(b) 2, 3 

 

(c) 54, 72, 90 

2 

 

1 

 

1cao 

B1 for 2 correct.  

15

 

(a) 2x − 11y final answer 

 

(b) 3x(2x − 3y) final answer  

2 

 

2 

M1 for 6x − 15y or − 4x + 4y or better seen or 

B1 for 2x ± jy or kx − 11y. 

B1 for 3(2x
2

 − 3xy) or x(6x − 9y) or 

3x(2x − by) or 3x(ax − 3y)  (a, b ≠ 0) 

16 (a) 17.5(………) 

 

(b) 20.38 to 20.44 

2 

 

2ft 

M1 for sin38 = 

5.28

x

 or better 

M1 for tan (BCD =) their (a) ÷ 47.1 

17 (a) Diameter 

 

(b) 27 

1 

 

3 

 

 

M1 for (180 − 54) ÷ 2 

M1 ind for 90 − their angle OBD. 

18 (a) (i) 

 

 

 

 (ii) 

 

                          R 

(b) 

 

 

2 

 

 

 

2 

 

 

1 

B1 correct line  

B1 2 sets of correct arcs 

 

 

B1 correct line       

B1 two sets of correct arcs  

 

correct region, shaded or shown by the letter R  

Page 5 Mark Scheme: Teachers’ version Syllabus Paper 

 IGCSE – May/June 2011 0580 31 

 

© University of Cambridge International Examinations 2011 

9 (a) 

 

 

 (b) 

 

 

 (c) (i) 

 

 

  (ii) 

 

 

 (d) 

 

 

 (e) 

correct triangle with arcs 

 

 

68° to 71° 

 

 

perpendicular bisector with 2 pairs of 

arcs 

 

3 to 3.4 cm 

 

 

arc centre their A radius 5 cm 

 

 

shading inside arc and to left of 

perpendicular bisector 

2 

 

 

1ft 

 

 

2 

 

 

1ft 

 

 

1ft 

 

 

2 

B1 without arcs 

or SC1 correct mirror image with arcs 

 

 

 

 

SC1 if accurate without arcs or accurate arcs with 

no line or accurate with arcs of AB or AC 

 

for their P on their bisector  

 

 

minimum must cut their AB and AC 

 

 

SC1 for either condition met 

 
10 (a) (i) 

 

  (ii) 

 

 (b) (i) 

 

 

  (ii) 

 

95.8 or 95.83 to 95.84 

 

233° 

 

20.6° or 20.55 to 20.56 

 

 

17.9 

 
2 

 

1cao 

 

2 

 

 

3 

M1 for 120 × sin 53 or sin 53 =

120

x

oe 

 

 

M1 for tan = 

24

9

oe 

 
M2 for 

22

920 −  or M1 for x
2

 + 9
2

 = 20
2

 oe 
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13 (x =) 4 

(y =) − 1 

 

3 M1 for multiplying and subtracting or adding as 

appropriate. 

(allow errors in arithmetic operations) 

or any other correct methods. 

A1 for one correct variable 

14 (a) 90° 

 

(b) 72° 

 

(c) 90° 

 

(d) 36° 

1 

 

1 

 

1 

 

1 

 

 

 

 

 

 

Ft 180 − (54 + their (c)) 

15 (a) ⎟
⎠

⎞
⎜
⎝

⎛

−9

4

 1, 1 
 

 

(b) ⎟
⎠

⎞
⎜
⎝

⎛

28

0

 1, 1 
 

16 lines of symmetry 1 0 

 

order rotational 1 4 

1, 1 

 

1, 1 

 

 

 

17 (a) (i) 0.3 oe 

 

 (ii) 18 

 

(b) horizontal line to (30,3) 

 

 line from  (30,3) to (45,0)  

 OR from their (x,3) to (their x + 15, 0)

1 

 

1 

 

1 

 

1ft 

 

 

 

 

Follow through their (a)(i) × 60 

18 (a) y(3y – 7x) final answer 

 

(b) 4p
2

 + 17pr + 2r
2

 final answer 

 

1 

 

3 

 

 

W2 for 2 correct terms in answer. 

 

W1 for 1 correct term in answer. 

OR 

M1 for 4p
2

 + 5pr   and 

M1 ind for 12pr + 2r
2

 

19 (a) (i) 12 

 

 (ii) 120 ft 

 

(b) (i) 625 

 

 (ii) 0.0625  

1 

 

2 

 

1 

 

1ft 

 

 

M1 for attempt to multiply their (a)(i) by 10  soi. 

 

 

 

or their (b)(i) ÷ 10 000 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 (a) 805 2 M1 for 110 × 5 + 85 × 3 

 (b) 50 2 M1 for 750 – 120 × 5 

 (c) (i) 

 

  (ii) 

90 

 

5 : 2 

2 

 

3 

M1 for 150 ÷ (3 + 2) × 3 

 

M1 for 3 × 5 and 2 × 3 or 

90ft × 5 and (150–90ft) × 3 

A1 for 450 : 180  oe or 2.5:1 or 1:0.4 

 (d) 6.5(0) 2 M1 for 5 × 1.3 oe 

 
 (e) 

 

10 www 

 
3 M2 for 100

3

30.0

×  oe (M1 for 0.30 or 30c) 

If M0 then SC1 for 100

7.2

3.0

×  (implied by 

11.1…%) 

2 (a) Accurate triangle PQR with arcs 2 SC1 for accurate without arcs or correct mirror 

image with arcs 

 (b) (i) 

 

 

  (ii) 

Accurate perpendicular bisector of PR 

with arcs 

 

Accurate angle bisector of angle P 

with arcs 

2ft 

 

 

2ft 

SC1 ft for accurate without arcs or accurate arcs 

without line or accurate with arcs of other side. 

 

SC1 ft for accurate without arcs or accurate arcs 

without line or accurate with arcs of other angle. 

 (c) Region shaded cao 1 Intended region clear 

 (d) 4.5 cao 2 SC1 for figs 45 or 3.5 or 1 cm = 0.5 km 

3 (a) 50 1  

 (b) 72 2 M1 for 288 × 90 ÷ 360  oe 

 (c) 1 1  

 (d) (i) 

 

  (ii) 

40, 96, 72 ft, 80 

 

1.67 

2ft 

 

3ft 

B1 for 2 or 3 correct or SC1 for total of 288 

 

ft their table 

M1 for (40 × 0) + 96 × 1 + 72 × 2 + 80 × 3 

M1 (dep) for ÷ total by 288 
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13 (a) 0.08259(.….) 

 

(b) 8.26 × 10
–2

 

1 

 

2ft 

 

 

W1 for  their figs 826, i.e. to 3 sig figs  

(a) must have a minimum of 4 figures in order to 

qualify for this mark. 

or W1 ind for their (a) in standard form. 

14 (x) = 7, (y) = 3, www 3 M1 for multiplying and subtracting or adding as 

appropriate. 

(allow errors in arithmetic operations) 

or any other correct methods 

A1 for one correct variable. 

15 Rectangle width 1.5 cm. 

Rectangle width 1 cm. 

Accurately drawn cross-section piece 

1 

1 

1 

in a correct place 

in a correct place 

in a correct place 

16 ($)282.56(…) 3 M1 for 2500 × 1.055
2

 oe 2782(. ...) 

and M1 dep for subtracting 2500 

17 (a) D 

 

(b) E 

 

(c) G 

 

(d) F 

1 

 

1 

 

1 

 

1 

 

18 (a) Translation ⎟
⎠

⎞
⎜
⎝

⎛

− 6

7

 2 W1 cao for translation (allow poor spelling) 

or W1 independent for correct vector alone. 

 (b) Correct rotation 

 (4, 4), (5, 4), (5, 2) and (2, 4)
 

2 W1 for (2, 4) missed but other points correct 

or SC1 for 90 anti-clockwise rotation 

or SC1 correct rotation, any other centre 

19 (a) 98.1 or  

 98.13 to 98.14 

3 

 

M1 for 14 × 6 (+……) 

M1 ind for π × 3
2

 ÷ 2 

 (b) 19.6 or  

 19.62 to 19.63 

2ft M1 for their (a) × figs 2 

Figs 196…. implies M1 

20 (a) Two parallel straight lines 

 7 cm long and 4 cm from AB and 

two semicircular ends 4 cm from A 

and from B. 

 

(b) 391 or 

 391.3 to 391.4 

2 

 

 

 

 

3 

cao 

W1 for 2 correct lines or 2 semicircles. 

 

 

 

 

M1 for 2 × 70 soi 

and M1 ind for 2 × π × 40 

SC2 for answer of 39.1 or 39.13 to 39.14  
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 (a) 

 

 (b) 

10 073 

 

13 + 20 − 2 = 31 

1 

 

1 

 

 

Accept 20 seen with answer 31 

2 (a) 

 

 (b) 

32 

 

3 

1 

 

1 

 

3 14 30 or (0) 2:30 pm 

 

June 4
th

 oe 

1 

 

1 

 

4 2y(x − 2z) 2 B1 for y(2x − 4z) or 2(xy − 2yz)  

5 (a) 

 

 (b) 

< 

 

< 

1 

 

1 

 

6 (x =) 3(y − 5) oe final answer 2 M1 for correct first move 

y − 5 = 

3

x

 or 3y = x + 15 

M1 for their correct second move 

7 (a) 

 

 (b) 

0 

 

2 

1 

 

1 

 

8 (a) 

 

 

 (b) 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛−

1

2

 

Point marked at (1, −1) 

 

1 

 

1 

 

9 (a) 

 

 (b) 

21 

 

27 

1 

 

1 

 

10 10.7 or 10.69(..….)  www 2 M1 for 

12

AC

 = cos 27 or better 

11 

 

7.94 or 7.937(…..)  www 

 

3 

 

M2 for )912(
22

−  or 

M1 for 12
2

 = x
2

 + 9
2

 oe or better 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

Qu. Answers Mark Part Marks 

1 −8 1 Accept negative or minus in place of ‘–’ 

2 3.87 × 10
-3

 1  

3 (Triangular) prism 1  

4 17.5  1  

5 54(.00)  final answer 2 M1 for 

100

5.18450 ××
  

oe 

or SC1 for 504(.00) 

6 Perpendicular bisector of AB  

with 2 pairs of arcs 

2 SC1 accurate, but without arcs 

 

7 11.5,   12.5 

 

1, 1 Independent 

SC1 if answers reversed 

8 14 2 M1 for 

( )
7

7108

230

×

+

 or better  

or SC1 for 216  as answer (steel) 

9 8.36(0) 2 M1 for 

3.6

h

 = tan 53° or 

h

3.6

 = tan 37°  

or better 

10 (a) 5.062608(024) 

 

(b) 5.063 

1 

 

1ft 

 

 

ft (a) to 4sf only if their (a) is 5 digits or more 

11 (a) 2 lines joining opposite vertices 

 

 

(b) Centre square and any other 

 or 2 adjacent corner squares  

 or 2 centre squares on adjacent edges 

 

 

1, 1 

 

 

1 

Independent  

Accept reasonable freehand 

 

Any of these diagrams: 

 

 

 

May be rotated through 90, 180, 270 degrees 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

Qu. Answers Mark Part Marks 

1 −8 1 Accept negative or minus in place of ‘–’ 

2 3.87 × 10
-3

 1  

3 (Triangular) prism 1  

4 17.5  1  

5 54(.00)  final answer 2 M1 for 

100

5.18450 ××
  

oe 

or SC1 for 504(.00) 

6 Perpendicular bisector of AB  

with 2 pairs of arcs 

2 SC1 accurate, but without arcs 

 

7 11.5,   12.5 

 

1, 1 Independent 

SC1 if answers reversed 

8 14 2 M1 for 

( )
7

7108

230

×

+

 or better  

or SC1 for 216  as answer (steel) 

9 8.36(0) 2 M1 for 

3.6

h

 = tan 53° or 

h

3.6

 = tan 37°  

or better 

10 (a) 5.062608(024) 

 

(b) 5.063 

1 

 

1ft 

 

 

ft (a) to 4sf only if their (a) is 5 digits or more 

11 (a) 2 lines joining opposite vertices 

 

 

(b) Centre square and any other 

 or 2 adjacent corner squares  

 or 2 centre squares on adjacent edges 

 

 

1, 1 

 

 

1 

Independent  

Accept reasonable freehand 

 

Any of these diagrams: 

 

 

 

May be rotated through 90, 180, 270 degrees 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

Qu. Answers Mark Part Marks 

1 Pyramid 1  

2 1, 4, 25, 100 2 B1 for any two and none incorrect. 

−1 each incorrect 

3 (a) 2 

 

(b) 2 

1 

 

1 

 

4 (a) 41 or −41 

 

(b) −7 

1 

 

1 

 

5 2x
2

 + xy final answer 2 B1 for 2x
2

 or xy seen in working 

6 5.5 2 M1 for  2x + 1 = 3 × 4 or better 

or 

3

2x

 = 4 − 

3

1

 

7 6.489 2 B1 for 6.5 or 6.49 or 6.4891…. 

8 35 2 M1 for 45 ÷ (7 + 2) 

SC1 for answer = 10 

9 46.4 2 M1 for 32 × 1.45 oe 

or B1 for answer of 14.4  

10 

16

3

 2 B1 for 

10000

1875

 or any equivalent fraction. 

11 3a(c − 2d) 2 B1 for a(3c − 6d) or 3(ac − 2ad) 

or 3a(jc − kd) where j and k are non-zero. 

12 

27

8

 2 M1 for 1 ÷ (1

2

1

)
3

 oe 

or SC1 for 

8

27

 

13 (x =) 2, (y =) −1 2 M1 for correct method for eliminating one 

variable. Subtract or multiply by 3 and 5, then 

subtract 
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4 (a) (i) 214 (213.6…) 

 (ii) 20.6 or (20.55 – 20.56) 

 

 

(b) (i) (0)44    ((0)44.4…) 

 (ii) 224 (224.4…) 

 (iii) 335 

2 

2 

 

 

1ft 

1ft 

2 

M1 for 75
2

 + 200
2

 

M1 for tan = 75/200 or sin = 75/their (i)  

or cos = 200/their (i) 

 

B1 65 – their (a)(ii) if < 65 

180 + their (b)(i) 

B1 for 65 below B or 25 above B, may be on 

diagram 

5 (a) (i) Accurate perpendicular bisector 

of AB with arcs 

 (ii) Accurate bisector of angle ADC 

 

 

(b) Ruled line 2 cm from and parallel to BC 
 

(c) Correct region shaded  cao 

2 

 

2 

 

 

2 

 

1 

SC1 if accurate without arcs or 

accurate bisector of wrong side with arcs 

SC1 if accurate without arcs or 

accurate bisector of wrong angle with arcs 

 

SC1 if not ruled 

 

Dependent on at least SC1 in (a)(i), (a)(ii) and (b) 

6 (a) (i) 60 

 (ii) 1200 

 

(b) (i) 10.2 

 

 

 (ii) 23.05 

2 

1ft 

 

2ft 

 

 

2ft 

M1 for full method for area with correct values 

ft their (i) × 20 

 

SC1 for figs 102  

or M1 for (a)(ii) × 8.5 ÷ 1000 

ft their  (a)(ii) × 8.5 ÷ 1000 and SC in same way 

ft their (b)(i) × 2.26 

M1 for 23.052 or 23.1 or (b)(i) × 2.26 

or B1ind for correctly rounding to 2 dp an 

answer with more than 2 dp 

7 (a) 2d – 9 

 

(b) 8.4(0) 

 

(c) 0.6(0) 

2 

 

2 

 

1ft 

SC1 for 9 – 2d 

 

M1 for their (a) = 7.8(0) 

 

ft their (b) – 7.80, only if positive 

8 (a) 35.3 art 2 M1 for substituting r = 7.5 in formula 

 

(b) 

π

A5

 3 M1 for correctly multiplying by 5 

M1 for correctly dividing by π 

M1 for correctly taking a square root 

 (c) 2.76 art  cao 2 

 

M1 for substituting 4.8 in their (b) or if working 

backwards from original formula, substituting 

and reaching r
2

 = 5 × 4.8 ÷ π 
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6 (a) 

 

 (b) 

 

 

 

 (c) 

 

 (d) 

 

 (e) 

 

 

 (f) 

–1.5   –10   10   6   1.2 

 

14 points plotted accurately 

2 smooth correct curves 

No part across y-axis 

 

0.4 to 0.5 

 

−3   −1    1 

 

Ruled line from (−3, −3) to (3, 1) 

 

 

(−1.5,  −2)  and  (3,  1) 

3 

 

P3ft 

C1 

B1 

 

1 

 

2 

 

2 

 

 

1,  1 

B2 for 3 or 4 correct, B1 for 2 correct 

 

P2ft for 11, 12 or 13 points, P1ft for 8, 9 or 10 

 

Indep 

 

 

 

B1 for 2 correct 

 

SC1 for freehand or short ruled line – must meet 

curve twice or P1 for their 3 points plotted 

7 (a) 

 

 (b) 

−3 

 

8 

2 

 

2 

1 for correct substitution seen 

 

M1 for 37−5 =4d  oe 

 (c) 

4

aS −

 2 M1 for one correct step seen 

8 (a) 314.60 3 M1 for 

100

6.34275 ××

 or 39.6 

M1 dep for their interest added to 275 

 

 (b) 703.04 3 M2 for 650 × 1.04
2

   

or M1 for 650 × 1.04 oe  (implied by 676) 

and M1 dep for second year  

 

 (c) (i) 

 

  (ii) 

314.28 

 

627.55 or 627.54 

 

2 

 

3 

M1 for 400 × 0.7857 

 

M1 for  400 ÷ 0.6374 soi 

A1 627.54…, 628, 627.5 

B1 indep  for their visible  answer corrected 

to 2dp 

Penalise accuracy only once in the question 

9 (a) (i) 

 

  (ii) 

 

 (b) 

 

 

 (c) 

 

 

 (d) 

 

 (e) 

9 or 8.9 to 9.1 

 

53 – 55 

 

compass drawn circle centre C radius  

7 cm   

 

correct line drawn with angle BCX  = 

67° 

 

in range 9.3 – 9.9  

 

ruled accurate angle bisector of their 

CBX with 2 pairs of arcs 

1 

 

1 

 

2 

 

 

2ft 

 

 

1ft 

 

2ft 

 

 

 

 

SC1 incomplete accurate circle 

SC1 any complete circle centre C 

 

SC1 for BCX = 113°  or BCX = 67°   inside 

triangle or BCX = 67°, CX not = 7 

 

Strict ft from (c) 

 

SC1 if accurate but without arcs 

or M1 for 2 pairs of arcs 
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6 (a) 

 

 

 (b) 

 

 (c) (i) 

 

 

  (ii) 

 

 

 (d) (i) 

 

  (ii) 

 

 

 (e) 

Point C constructed with arcs,  

AC = 11 cm BC = 9 cm 

 

46° 

 

Bisector of angle ABC with 4 correct 

arcs and reaches AC 

 

Perpendicular bisector of AC, with 

correct arcs 

 

0.7 to 0.8 cm 

 

Region of triangle between their 

constructions 

 

500 

2 

 

 

1ft 

 

2ft 

 

 

2ft 

 

 

1ft 

 

1 

 

 

2 

W1 if correct without arcs  

 

 

 

 

W1 if accurate without arcs or accurate with 

arcs and short 

 

W1 if accurate without arcs 

 

 

ft their PQ provided on their AC 

 

dep on W1 and W1 in (c)(i) and (c)(ii) 

 

 

W1 for figs 5 or 9 and 4500 oe seen  

7 (a) (i) 

 

  (ii) 

 

  (iii) 

 

 

 (b) (i) 

 

  (ii) 

 

 

  (iii) 

21 

 

33 

 

4n + 1 oe 

 

 

40 

 

3 

 

 

10300 

1 

 

1 

 

2 

 

 

1 

 

2 

 

 

1ft 

cao 

 

cao 

 

W1 for 4n + j or kn + 1, where k not equal to 

zero, seen 

 

cao 

 

W1 for embedded answer 

or M1 for 1(1 + p) = 4 oe 

 

ft is 100 × (100 + their p ) evaluated 

8 (a) (i) 

50

19

  1 Accept 0.38 or 38% 

  (ii) 

50

29

 1 Accept 0.58 or 58% 

  (iii) 

50

40

 oe 1 Accept 0.8 or 80% 

  (iv) 0 1 Accept 

50

0

, 0%, nil or zero 

 (b) 50 or all 1  



Scale drawing / Loci / symmetry 1 Answers
14) 

Page 3 Mark Scheme: Teachers’ version Syllabus Paper 

 IGCSE – October/November 2011 0580 31 

 

© University of Cambridge International Examinations 2011 

 

4 (a) (i) 70   cao 1  

  (ii) 1.11(11…) 2 B1 for 100 ÷ 90, 10 ÷ 9, 1

9

1

 

 (b) (i) 15   cao 1  

  (ii) (1500 – 15) × 1.04 2 B1 for × 1.04, 1560, 15.60 

 (c) 561.92  3 M1 for 1544.40 – 950 – 10 (584.40)   oe 

M1 indep for ÷ 1.04 

5 (a) 

3

4−

  oe, –1.2 to –1.4 2 B1 for attempt at 

run

rise

 

 (b) (i) 3, 2, 6 3 B1 for each value 

  (ii) Correct continuous line  2ft Minimum length (0,3) to (6,0) 

B1 for plotting their 3 points 

 (c)    x = −2, y = 4 

 

2ft B1 for their x, B1 for their y from their 

intersections 

6 (a) (i) Correct construction  2 B1 for two lines or B1 for accurate arcs seen or 

B1 for one correct line with two arcs 

SC1 for AC = 6 and BC = 7 with arcs 

  (ii) 47° (45 – 49) 1ft Strict ft their (a)(i) 

  (iii) Correct construction 2ft Their (a)(i) B1 for accurate arcs no line 

or B1 for accurate line drawn no arcs 

or B1 for accurate line with arcs bisecting 

another angle 

  (iv) 4   (3.8 – 4.2) 1ft Strict ft their (iii) with intersection on opposite 

side of triangle 

  (v) Correct construction 2ft B1 for accurate arcs no line or 

B1 for accurate  line drawn no arcs or 

B1 for accurate line with arcs, bisecting AB or AC 

  (vi) Correct region shaded  1ft ft is for boundaries of correct perpendicular 

bisector of their BC and correct angle bisector 

of their ABC, with or without arcs  

 (b) (i) Correct scale drawing of PQ 2 B1 for accurate angle 40
o

, B1 for PQ 8cm 

  (ii) Correct scale drawing of their QR 2 B1 for accurate angle 160
o

, B1 for QR 6cm 

  (iii) 35 to 37 1ft Measure × 5   ± 1km 

  (iv) 264 to 268 1ft  

 


